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Two men cycle round a circular track which is 3 km long. If
they start at the same time and at the same spot but go in
opposite direction with speeds & km/h and 9 km/h
respectively, for how long must they cycle before they meet
for the first time ? ' '

A. 12 minutes B. 15 minutes C. 18 minutes

D. 24 minutes E. 60 minutes :

The scale of a map is 1 : 20000. Gn the map, the area of a
farm is 2 cm®™. The actual area of the farm is
A. 400 m= B. 800 m= C. 40000 m?2 . 80000 m%=

E. 8000000 m=

Three numbers are in the ratio 2:3:5. The ratic of -Lhoir
average to the largest of the three numbers i '

A. 1:3 . B. 1:2 C. 3:5 D. 2:3 E. 2:1
Ix 4+ 2y -

If ———————— = 1 , then X- + Yy oy o=
< + By

ALl : "5 B.3:2 C. 95: 6 D. % :1 _E._ 7 :2

A man drives a car at 30 km/h for 3 hourcs and then at 40

km/h for 2 haours. His average speed” for the whole journcy is

A. 14 km/h . "'B. I0 km/h C. 34 kas/h D. 35 km/h E. 70 km/h

A alone can complete a job in € hours. B alone takes 12
hours and C alone takes & hours. After A and B have workeoed
together on the job for 3 hours, C joins them. How much
longer will they take to complete the job ?

A. 1 hour B. 1% hours C. 2 hours D. 2% hours E. I hours

a, b and ¢ are positive numbers such that a/b = b/c = k (k
being a constant), which of the fallowing must boe truc ?
(1) b= = k= (2) {(a+b)/(b+c) = k {(Z) a/c = k=7
A. (2) only B. (3) only C. (1) and (2) anly
D. (2) and (3) only E. (1), (2) and (3}

If =1 : 2 and b

a : b c 1 : 3, then at+th : b+c =
AR. 1 : S B, 2 : 3 C.

x4 D3 08B . 3 : 8

r.,! a“

It takes John 40 minutes to walk from his home toc school. IT
he increases his walking speed by 2 km/h, then it takes only

30 minutes. What is the distance tetween John’'s home and hisg

school 7?7
A. 1 km B. 4 km C. & km D. 8 km E. 12 km

A man drives a car at 45 km/h for I hours and then at 50
km/h for 2 hours. His average speed .for the whole journey is
A. 47 km/h  B. 47.5 km/h C. 48 km/h D. 48.5 km/h

E. 49 km/h
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If A, B and C can finish running the same dists
: B's speed

and 5 minutes respectively, then. A's spead

A. 3 1 4 : 35 B. 20 : 13 : 12 C. 3 : 4 : 3
D. 25 ¢ 16 : 9 E. 9 : 8 : 7

The number 1w is

A. 2277

B. 3.1416 ‘

C. the ratio of the area of a circle to the square of 1ts
diameter.

D. the ratic of the circumference af a circle to its radius.

E. the ratio of the circumference gf a circle to 1ts
diameter. '

Ifa:b=3:2,b:c¢c=4:3, then a+b : btc =

A. 7 : 10 B. 8 : 7 c. 1 : 1 D. 7 : S E. 10 : 7
It 3a = 28 = Sc, then 1/a : 1/b : 1/e =

A 3 2 2 505 B. 52 : 3 C. /3 : 1/2 : 1/5

D. 1/5 : 1/2 : 1/3 E. 1/2 : 1/3 . 1/5

A man wéiks from place A to place B at a speed of I km/h and
and cycles immediately back to place A along the same road
at a speed of 15 km/h. The average speed for the whole trip
is :

A. 5 km/h B. & km/h C. 9 km/h D. 16 kKkm/h. E. 12 keo’h

y varies inversely as x2. [f x jg increased by 100%, then vy
is - P

A. increased by 100% B. increased by 3007%

C. decreased by 25% D. decreased by 75%

E. decreased by 100%

A car travels from P to Q. If its Speed 1S increased by k%,
then the time it takes to travel the same distance is
reduced by )

A. K% B. 100/k % C. 100k/(10C+Kk) %

D. kK/{100+k) % E. k/7(100-k: %

The weight of a gold coin of a Given thickness varies as

the square of its diameter. If the vw2lights of two such coins
are in the ratio 1 : 4, then thsir diameter are in the ratio
A. 1 @ 2 B. 2 : 1 C. 1 : 4 D. 4 : 1 ‘E. 1 164

ANSWERS
1.D 2.A 3.D 4.D 3.D. 46.C 7.A . 8.D 9.E- 10.B
11.4 128 13.E 14.E 15.A 16.4 17.D i8.C 19.4
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